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HSSC CET Group D Question Paper with Answer Key of 21 Oct 2023 Morning

T, G 991 SSTWH - T Y9! 6 FaY YRd F
frr =g a

(1) Y=

(2) T

(3) eAfewm

G- ‘
(5) ST I =R |
URA i foh o e w8 2
(1) 1930

(2) 1950

3) 1947

(4) 1951

(5) W TE & =E |

(2) 78.0

(3) 88.0

(4) 83.0

(5) W& T 9w
A Fi oo 8
(1) 6371 f%H.

(2) 8371fst

(3) 9371 fs

4) 2371fsH

(1) < fig

(2) o ey

(8) WIS ARy

4) WEwFs

(O)  IW & < wwy

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?
(1) 1930

(2) 1950
(3) 1947
(4) 1951

(5) Not Attempted

As per Census 2011, the literacy rate in India
1S :

{1{ 73.0

(2) 78.0
(3) 88.0
(4) 83.0

(5) Not Attempted

What is the radius of the earth ?

(1) 6371 km
(2) 8371 km
(3) 9371 km
(4) 2371 km

(5} Not Attempteq

Who is the author of the book - ‘A History of
British India’ ?

(1)  James Mill

(2)  Warren Hastings
(3)  Lord Mountbatten
{4] Lord Clll'zun

(5)  Not Attem pted

(1) . TS gélnuerzjr_zed as free India’s first Governor-
(2) WER TeayyE qed ) ¢ Rajagopalachari
()  Hrern SIS (2) Sardar Vallabhbhai Patel
(4) O o e (3)  Maulana Azad
O) ST & TR | (4)  Jawahar Lal Nehru
ATH/ G1 (5)  Not Attempted =
L ¥ BT & o0 221/ SPAGE FOR ROUGH WORK i
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7. ‘CE’Yarqd ¥ .

1 ) 7. ‘CE’ refers to :
(1) EilE A 3o (1)  Coast of Egypt
(2) HHATRERE (2) Common Estimate
(3) SHEATY (3) Common Era
4) e (4) Casual Era
5) T | (5)  Not Attempted
o P : _ | 8.  ‘Mission Indradhanush” launched ;
8 014 ¥ WY g sfira <zor’ w1 v # 2014 is : Py
(1) EIRCH| ﬁf\ﬂ-_ﬁfﬁﬂ'{ =l YTl 'ﬁ (1) To provide information, commodities
2 SR, TE Fo1 Yard e w0 | and service to meet the diverse need of
2) 3 - aﬁi{ i ;duh: scents.
Frafea e q59 ‘ IR STl 0 cover children who have been
a'ﬂw'l?ﬁtﬂT Uea BRI | I giied @) partially or not vaccinated during
(3) mwﬁmﬁmww routine immunisation rounds.
o I (3) To provide affordable and quality
_ ! I* o healthcare to the rural population
4) dfea |
(4) _q:?;:ﬁ e wem T | (4) To provide education to the deprived
(5) T =Jed | children.
S e (5) Not Attempted
9 T ST §
(1) 534 9. World Environment Day is celebrated on :
2 7 (1) 5% June
| 2) 7t June
(3 5 ?I_ali‘
(3) 5t July
(4 7 ﬂ?’"é (4) 7! July
(5) SUX A o1 <Ed | (5) Not Attempted
10. gt & =W 3T el T 1 F7 ® 10. The earth is surrounded by a layer of gases
(1) 3=H called :
2) : (1) Ozone
. (2) Environment
(3) drgHS (3) Atmosphere
(4) ey (4) Climate
(5) ST TRl <A = | (5) NotAttempted
?
11. % (MAA) S i forega &9 F1%? 11. What is the full form of M& ’?rzgrmme
. 110
1) o7 =1 'H"{Fi R (AEH TSETTE SEEED (1) Mother’s Absolute iie;tiﬂﬂ
| ‘ ) lute
o) W U A (e THITE ) (2) Mother i::iﬂdzlement oscent
o e = ) (@] Matheei L e Amend AACE
sl mﬂ-{ - fﬁ el Tl (HEgsT (4) Menstrual hygien®
(4) forunfi # w99 ¥ 3 girls 4
P S SRR 5 Not mtempw
1 ORK
(5) I ‘-Té’f a'—'ﬂ aﬁa E FOR FIOUGH w
—; | . 3 ferg ==/ SPAC |
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12. "’ frefated | 9 formen w9 8, 9 s
H UET S8 ?

(1) ==

(2) 99

(3)  SET

(4) S

(5) ST G oA =&d |

13. A gty fovafamnes el srafeq 872
(1) e
(2) 9
(3) feee
(4) TEAH
(5) T TR <A =R |

frafafed § @ $H-91 FEHA T THH NI
foaemerdi § v foran T forge Siaria ==l 1 9l
g7 WS YeH e ST & 2

(1) wfeen gHrE

(2) HEAG WIS

(3) WS T=ed, e e

(4) & e hEmH

(5) S TR ol =ed |

‘Hg’ e 9Rd % fohg ToF | WAl S € 2
(1) HAlEH
(2) T
(3) SWYW
(4) S18H
(5) SR el o = ed |

16. afc fHdt safe 1 g HTH HLAT 6 F S, A SHH
o FI FAH gk gRT e foran Tl €, 79491 98
Sfiferd 78l 1€ Hahal | 98 Yishal weadl © :

14.

15.

12.

13.

14.

15.

16.

‘Lugda’ is a kind of whi:ch one ':?f the fulluwing
that is worn 1n Chhattisgarh :

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) Not Attempted

Where is Jamia [slamia University situateq ;

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the following refers to the
programme introduced 1n all governmen
elementary schools to provide children with

cooked lunch ?
(1) Mahila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(5) Not Attempted

If a person’s kidney stops working. T
cannot survive unless their blood is filter
by artificial kidney. This process is called

(1) o (1) Excretion
@) BRI (2) Dialysis
(3) ¥EH (3) Transpiration
(4) T =REA (4) Elimination
(5) S &l o1 9Ted | (5) Not Attempted
: | et
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17. T=fafeg 4 9 -

1 GSIE] 17. :
(1) Whl:ﬂh of the following is net
(2) HEw 1abitat 9 a terrestrig]
(3) ol (1) Pong
(4) TN FAgH () Desert
5) SWFE aTey B)  Rainforest
18. EOTHMH I TH.IME, Ty 5)  Not Attempted
: 2. TS T 2
(1) ™ 18. The SI unit of mass is -
(2) Tercum (1) gram
3) TURs (2)  kilogram
(4) °T=H (3)  pound
(5) S AR <71 =9 | (4) ounce
(5)  Not Attempted
19. U TS F9aa TUU | T Wi &1 g Wae |
¥ v s wfaferes < feat it gt 2 19- A boy is standing at a distance of 50 cm from
the plane mirror. What will be the di
ESTite e e distance
(1) 100 between the mirror and the image ?
(2) 25T (1) 100 cm
(3) 50 TarHRX (2) 25cm
r 3) S0cm
(4) 75 FaH (
4) 75cm
(5) ST ATEl <A1 =Ed | {
(5) Not Attempted
20. FI gfepar § S & 30 =g gl
ey I CELE ] | 20. No medium is required for transfer of heat by
e o hnk the process of
(1) (1) Radiation
(2) e (2) Conduction
(3) HaEd (3) Convection
(4) oS (4) Transpiration
(5) 3T Tl <Al =& | (5) Not Attempted
21. GE2l Wﬂﬁm—‘?ﬁ TR T 21. and are water borne
¥ diseases.
1 ZEhisS @TW (1) Typhoid and Meningitis
( ) - ﬁ_a_ ﬁtﬁﬁw {2] BEI"i-BEI'l ﬂlld D}’Sﬂﬂtﬂr}'
) - . (3) Scurvy and Cholera
(3) A ?ﬁt (4) Polio and Rickets
(4) e AT (5) Not Attempted
Ted Page 5
(5) S AR < Sed - £ FOR ROUGH WORK
v a1l o feTu 22rel / SPAC
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(1) (1)
(A) TR ) FESRa
B) dge (1) sfenm
(C) THHFE (1) =i
(D) foedi o (V) o

(1) (A)-(Im), (B)-(Iv), (C)-(11), (D)-(1
(2)  (A)-(1D), (B)-(11), (C)-(1), (D)-(IV)
(3)  (A)-(IV), (B)-(I1), (C)-(I1I), (D)-(I)
(4)  (A)-(0), (B)-(I11), (C)-(IV), (D)-(I)

(5) ST TRI <A =R |
23. 1 w0 ¥ HRO A0 SR e §
(1) T\ A
(2) foa@aBI
3) feafmacC
(4) faa@ D
(5) IO T &A1 e |

(3) o g Fi gyl 3R SR IXR

(4) YRR & 7 W g | R iR is @
HFR BT BB |

(5) ST TRl o1 =ed |

25, BURlRY ‘A’ TRt & FRUE :

22.

23.

24.

Match the following :

(1) [ﬂ) ak stem
(A) Lamina - weﬂl‘&’
(B) Petal (1) il ¢
. {IIU Lea
(C) Pistil Flower

(D) Creepel AL

(©)-(m), (O)-4)
©)-(0), (D)-(IV)
(C)-(111), (D)-(1)
(1v), (D)-(1)

1) (@)-n, B-V)
@  (@)-am, B-0
@) (A)-(V), (B)-(11);
@ (-, @-0, (©F
5) Not Attempted

causes beri-ber

Deficiency of
disease.

(1) Vitamin A
(2)  Vitamin Bl
(3) Vitamin C
(4) Vitamin D
(5) Not Attempted

Which of the following is not the characterist:
of fish ?

(1) Presence of fins

(2) Presence of gills

(3) Long backbone with cylindrical body

(4) Head and tail smaller than the midd
portion of the body.

(5) Not Attempted

25. Hepatitis ‘A’ is caused by :
1 S 1) Bacteria
(2) fammg (2) Virus
(3) dh (3) Fungi
(4) SIS (4) Protozoa
(5) W T8l <91 918d | (5) Not Attempted
VNATH / G1 3G P b ToTu 32me / SPACE FOR ROUGH WORK Pag
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26.

YL FMH T

Scanned with CamScanner

Y 9 o %‘ [ 26. Earthworms breathe through their
(1) HFES (1)  Lungs
(2)  varEAteEl (2) Tracheae
(3) TeTES (3) Gills
(4) == | (4) Skin
(5) TR E S =R (5)  Not Attempted
27. freifefan # ¥ fres s # dre o fwn | 200 Lo L Used in the production of
' — o (1)  Sugar
ﬁ (2) Oxygen
(1) Y (3) Alcohol
(2) I (4) Hydrochloric Acid
(3) 3IThredA (5) Not Attempted
(4) TR 3T
(5) 3w el <41 9Ted | 28. Intheyear 2016, the Government of India has
initiated a mission called under
28. H 2016 T YR TR 7 e fer ;‘;2;‘;: A Dreor Sewage disposal have been
ey e %‘ﬁﬂ# ar=aita 3faa arfed A fA9eH ) ljjjwala
Y& foman T g @) Udaan
] e (3) Swachh Bharat
(2) SeH (4) Namami Gange
(3) TE= YRd (5) Not Attempted
(4)  FEIH T
(5) S el o1 =Ted | 29. Match electrical component given in
Column - I with the symbol given in
: : X . ; Column - II :
29. g; ) Iaﬁiﬁj ™ ﬁlﬂﬁﬁ R~ BRI - 7 R Column - I Column - II
ks | : (A) Electric cell n ——{—
TWH -1 HH-1I
B) ‘e’ feafa H == (1) @ position
(C)  Electric Bulb (1) ———
(C) ToEgd sed (1) —— D) Battery V) ——
(D) EERY V)~ Choose the correct option
et faswea g4 - (1) (A)-(), (B)-(I0), (C)-(II), (D)-(IV)
(1) (A)-(1), (B)-(11), (C)-(I11), (D)-(IV) )  (A)-{), (B)-0), (C)-(11), (D)-(1V)
(2) (A)-(1), (B)-(), (C)-01), (D)-(IV) 3)  (A)-(IV), (B)-(D), (C)-(11), (D)-(1T1)
B _@r-av), B)-0. (C-0. O L @ (A)-V), B, ©-, -0
(5) 3 &l < =red | Page 7
VNATH / G1 5 1k 5 fere et / SPACE FOR ROUGH WORK



30. UG 1 9% UM 1 Fea € R urgat # | 30, The property of metals by which they —

ﬁmmwmmﬁ -, beaten into thin sheets is called :
(1) STcishdl (1) Conductivity
(2) wialsan e (2) Reactivity

(3) Ductility

& Malleabilit
(4) alleability
4
(4) ﬁ‘ﬁ'ﬂﬂl (5) Not Attempted
(5) ST TEI <1 5w |
31. Fivechildren A, B, C, D and E are standing in
31. U TR A, B, C, D 99T E 3t W 3R He Flch TH a row, facing I"Tt:rn_rf:h but not necessarily ingthr:
Uy § @S &, cfer avas el ¢ fh s wa A & | same *::rc}ﬂr; ,C 1S to the right of ‘E’ and to the
o e dRAER A FaE ARy AR D F left of ‘A’. “A’and D’ have one child between
C,E -t (i them. Who is in the middle of the row ?
fafuFaAIg] UK F A H HH € ? 1) E
(1) E 2) C
2) C
3 B (3) B
4 A 4 A
(5) IW e <1 918 | (5) Not Attempted
32. ﬁ%aﬁﬁa@%maﬁa&a@amﬁﬁmw 32. A set of English letters is given below in a
3| gEme ¥ 39 AN % 999 F1 fwE AR Jumbled order. Select the combination of
e 1 Al w0 T ‘Tmfiuf - numbers so that the letters arranged
T NEHERE accordingly will form a meaningful word.
G
. 5 ;‘: I g E C P K T O E
09 1 2 3 4 5 6
(1) 3,51,4,26 woect._

@ 21,5364 eL0¥ZpA (1) 3,51,4,2,6
B) 2,51,3,6,4 ?0‘?’\"%/‘(/ ) 2,1,5,3,6,4
4 4,1,52,3,6 K&OQ B 2:5,1,3,6,4

(5) I TEl <1 =T | (4 4,1,5,2,3,6

(5) Not Attempted

33. AWQ, RFWF [ IE L, Q, R4 T

33. If ‘Q’is brother of son of R’s son, then how is

SR ‘Q’related to R’ ?

1) (1) Son

(2) =mE/AE | (2) Uncle

(3) U= (3) Grandson

(4) =EU 9R/FEA (4) Cousin

(5) ST AR &1 = | (5) Not Attempted B
VNATH/ Gt <% @1 & fe10 2et / SPACE FOR ROUGH WORK Page §
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34. 34Q I%EH" tad o .225 3T I TEaR §, o 39 EqH | 84. If 25t of August in a year is Thursday, then
fopaa TSR =i 2 ?ﬂﬂﬂwtlrilgny Tuesdays will be there in that
n
(1) 3
@2 5 S
(3) 4 2) 5
4 6 (3) 4
(5) IR A& <A1 =R | 4) 6
(5) Not Attempted
35. <1y 3R Uk arg o ek 1 eiR 11 fewme ¥ 1 fRw
7T FAI Sl A A §U ER  WHG F@ A W | g .

_ . : : 5. Two statements are given, followed by t
fat & Fi A Ydid =id @l, [ = fw W—m/ﬁ conclusions I and II. ;Pts.s;.u1‘-‘:;;ingj’r t;rz
frerd feu T HYAl F 3T T aha7Td B9 9 e statements to be true even if they seem to be

¥ | at variance from the commonly known facts,
%/i e @ decide which of the conclusions logically
= & follow/follows from the given statements.
gt ST g;% 4 Statements :
ﬂ-@'ﬁ'@ﬁ{:ﬂ?%l All animals are dogs.

e - Some dogs are dangerous.
Conclusions:
I O TR @A € |
" L All animals are dangerous.

I F9%d Ml el

N N II. Some dogs are animals.

1 I I

W N (1) Only Conclusion I follows.

] ﬁﬁ-‘;ﬁi ehaidl @ |
.[2) = (2) Only Conclusion II follows.
(3) ﬁm 1 3#[ 11 éﬁ" % l (3) Both Conclusions I and II follow.
(4) A T 1 3R eI 4 (4) Neither Conclusion I nor II follows.
(5) SRR < <& | (5) Not Attempted

36. for@gar W BT HAH @ H %’ s 36. Kilometer is related to Distance in the same
forgqy gafud 2?2 way as Newton 1s related to :
(1) =TT s (1) Acceleration
2 Densit
2 wad (2) ¥
3) Fad (3) Force
- (4) Momentum

4 T
) T _— (5) Not Attempted

SRk Page 9
) ; /| SPACE FOR ROUGH WORK
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37. AR e = ST 9 J hif
11, 12, 16, 25,41, _ P

(1) 65
2) 66
3) 69
4) 72
(5) SRS < =R |

38. Tauq =1 =um =wifsu .
(1) 3
(2) TR
(3) SI]
(4) T
(5) SR AE < =R |

39. It T& FAfv=d Fewwr § ‘COVET’ & ‘FRYHW’
fom wm €, @ St umr § HIDE? & = foman

ST 7

(1) KLEF
(2) KLGH
(3) KLEI
(4) KGEF

(5) ST TR <1 9Ed |

40. UF Af IR oo ¥ e #1& @2 &1 9% amed
fewn 4 135° g2 w1 €, 36% A efuurad faun o
90° 4 911 €| 4 39 Ye fore fem d &2

37. TFind the next term of the series :

11, 12, 10,298, 41, . 2 ...
(1) 65

(2) 66

(3) 69

(4) 72

(5) Not Attempted

38. Find the odd one out:

1) Ginger
2) Carrot
3) Potato

(4) Tomato

(5) Not Attempted

39. If in a certain code, ‘COVET’ is written a:
FRYHW’ then how will ‘HIDE’ be written in th:
same language ?

(1) KLEF
(2) KLGH
(3) KLEI

(4) KGEF

(5) Not Attempted

40. A man is facing North direction,

O 5
135% in anticlock-wise direction, and then 90

In the clock-wise dj .
- s lrectlﬂn‘ = - - I':.
is he facing now 2 Which directic

He tums

(1) FR-74
N (1)  North-East
(2) North
(3) IW-ufyam (3) North-West
(4) ufv=m (4)  West
(5) W FEl <1 =®d | (5) Not Attempted
Vﬁﬁ-l'/ G1 ~ 2% 1 % fe10 2aTel /| SPACE FOR ROUGH WORK e
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41. 17 TR M T 720 1 i woE AN ey R | 41, On eling 17

1 7 halla far T 720, thers i3 a loss
nfa v # e % rpual to the coat price of 5 balla.  The cost
WA WA VR v, e g ey B -.
prive of ane ball i
(1) T 45 |
» = (i | T 45
(2) TS50
~ ¥ %/
(3) T55 Y,
(@) T 60 {3) ? 55
- 3 ks {4 ? ;!ﬂ
(5) I AR T s . ‘

{(5) Not Attempted

42. TR A5 -[28-137 - (15— x))|=58 }, A » 31177 |

- 42. 1A5—[28 - (37 - (15 — Hl] =38, then the value
: of xis

(1) - 29 | (1) — 90

(2) - 19 | 2) -

(3 19 ) 19

il (4) 29

(5) ST T8l < =red |

(5) Not Attempterd

43_ A ol B EI ALl ? 22,500 R 1R 35,000 ﬁ%ﬂmp 43. A and B started a business BV 1

ﬁwmm[ < 27,600 %%Wﬁ B &l ] 22,500 and ¢ 3:1,{";"‘:'-7 ::'..':g:r‘r‘.':';l'l'.' (It of 3
%’ total prnﬁt of < 27 600, s share 18
L I
- (1) 10,800

R S - ool
:3; % 16.800 | (3) 16,800

' y 219,200
(4) 19,200 [ (4)

9¢] &1 =9Ted | (5) Not Attempted
(5) TH

X 1 he yvalue of f-_.——!; 1
2 2 - X = —, then the value 3
4. A X _lEtaX Y mAAEm: [ & B o= ¢ -y
Y 3 x =Yy
- 10
- 10 (1) F_g;—-
(1) o ,
y
5 (2)
@) 7 .
| i
(3) 4
-5
CI :-,
. (4) 3
@ 5 | e norAwewpe! sy
ey HTEd | e ORK
gl m&&sﬁwwm:sracﬁwﬂ"“”c"w
—/W

VNATH / G1
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ﬁmm%ﬁﬁﬁmﬁw &Rel SHYT:

gs fr‘ra AT 168 = Hiet ¥, O o1 @t wrvel) afs

(1) 12

(2) 17 H.

(3) 24 .

(4) 31H.

(5) W&l < =R |

f, HINRO SIS ) fore 0 o it 12 96 H W
T & S € 2

(1) 81%
(2) 8%%
(3) 8-;:%
o 9kx

(5) ST TR &1 =R |

s5. 3750 U Od 9 Thed F1 UTF el Wil 8, el 39
20% aZ] el T €1 afe 384T 1,600 feual =t
T F-dT Y 39 Thed o Th SIS H Sifehd e

53.

54.

55.

of the diagonal and the area (
m and 168 m? resIJecﬁth
de of the rectangle is; °

[f the length’
rectangle are 25 .
then the longer S

(1) 12 m
(2) 17 m
(3) 24m
(4) 31m

(5) Not Attempted

At what rate of simple interest will a sum
money doubles itself in 12 years ?

(1) 82%
(2) 8%%
(3) 8%%
(4) 9%%

(5) Not Attempted

Arun buys a pair of skates at a sale whe
the discount given is 20%. If the amount !
pays is X 1,600, then which of the following
the marked price of the pair of skates ?

i} (1) ¥1,280
(1) 1,280 Lo
by
4) 2,000 4) ¥2,000
| (5) Not Attempted
Tl-(IS/JGTW :@ — 15 1t 3 110 2Tel / SPACE FOR ROUGH WORK Pat_;ﬁ
A
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~ Choose the correctly spelt word. 60 -
4 (1) humorus + Pick out the part of the sentence which has an
(2) humorous r:”"r' If there ia no error, vour answer is (4).
(3) RUMONS This is the third communication I have sent /
(4) humarous (A) :
(5) Not Attempted and I am much surpriaed /
57. Choose the ﬂlternﬂii_vr which best exXpresses (F3)
the given sentence in Passive Voice, at receivin
< .. £ No answe
The accountant took the cheque from the (C =
customer. _ TR )
(1) The cheque 1s taken from the customer (2)
by the accountant. (3) 'E]
(2 The cheque was taken from the {:” Ln] _
customer by the accountant. R
(3) The customer was taken the cheque by (5)  Not Attempted
the ECCUu“tall:t- "~ | 61. Fill in the blank with suitable alternative.
(4) The cheque had been taken from the You will not overtake him unless you
customer by the accountant. (1) sleep '
(5) NotAttempted (2)  walk quickly
sg. In the following question, the first and the last (3) play
part of the sentence are numbered S; & Sg,. (4) reading
The rest of the sentence is split into four parts (5)  Not Attempted
P
Etlni E]E:ineclia gia?-;-:nm;dtl?' Th_ESE four partsare | 62. Choose the alternative which best expresses
_g : Eve.n o g €m 1n '“fﬂﬂﬂt order. the meaning of the underlined idiom.
1 ay in many countries They sold their old house because it was
P - neglected and there are far ,
Q - women continue to be a white elephant .
R - who have had the benefit of (1) very large
S - fewer women than men (2) useless
S - education and vocation training (3) very comfortable
2) QPSR (S) ot Attempted
(3) RQPS 63. Find out the antonym of frequent’.
(4) SQRP (1) rare
(5) Not Attempted (2) return
59. Change the following sentence into indirect (3) fear
speech. | (4) alarm
Shakti said to his friend, “Look out! There 18 (5) Not Attempted
a snake behind you”. 64. Find out the synonym of the underlined word
(1) Shakti told his f;m}?ddt?liiﬁﬂk ot ag in the following sentence.
is a snake behin : . o P
2) léh}f;‘itlis o aiged. to his friend with To travel hopefully is a better thing than fo
surprise that there could be a snake arrive, and the true success is to labour,
behind him. ' ' _ (1) rtltli.}uully
() Seeing a snake behind DM, Shakti (2) positively
_ . . k out. 3 negligence
asked his friend 10 loo [
(4) Shakti warned his friend that there was (4) carelessly
a ! behind him. (5) NotAttempted
(5) Not Attemptﬂd " Page 15
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65. Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer 18 (4).

Passengers are requested not to sit on the floor.

(1) tonot sit
(2) to not to sit
(3) requested to sit

70.

ﬁqmmﬁwﬁmﬁmmﬂif%?
(1) i sfer 1w 2

@) TR W A

(3) ==l iEHH W@

(4) e ygum FH A @

(5) I T oAl A |

Ao T T TR 9E THT &, 39 Fed © -

T1.
(4) No Improvement
(5) Not Attempted (1) FH
66. THIH-TI T oY Hh H IGB § 7 @)
(1) =439 9= 94 & (4)  FTEEEE
(2) YA IR i TH H Tqien (5) I el <A1 Ad |
(3)  ferl siR wT 72. fou Tn fr faseq # adt IS FI2 2
(4) WY Bd WS I (1) Yfgewtm
(5) ST <A TR | (2) gw
3
67. ‘39 9M H @ WA YA G & [@ilhd U 6 Li A
[y SUge qaiaardl e § - (5) SR TE &=
(1) 73. ‘Ud 3R eI & 99 &I 9l 6 (g GaiiHeh 39
(2) e Teh I8 © -
(3) (1) Tyfa
(4) af (2) TERY
(3)
(5) SR TG <A = | . m‘"m'a
68. ‘37 WeId AN Y S T I TE ¢ - (5) ST AR <Al = |
(1) dh 74, ‘fr+3men’ F AN Y I A0 FETES SUGH V=g
_— 3
(4) (3)
: |
. : mﬁé@ﬁ;ﬂﬁaﬁ'mmﬁ (5) IW
o . . (1) e I T
ST AR I (2) STg g Tl <l WA T
" : AR Bl I 1 Y IS
' 3)
{2 fﬁ-}mﬁ&?ﬁﬁﬂﬂ (4) qﬁﬂﬁ‘fﬂﬂz{‘;ﬂm'
( gﬂtﬂﬁamwl ) S l Pageﬁ
o — % fere zae | SPACE FOR ROUGH WORK
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76. AN H foray fd ¥

(1) 21
2) 22
3) 23
4) 24

(5) I HE ¥ WA

77. UKHE {ang (WA 13 50 % w8y 4 fysfafiag i
B HH- Hv 98 £
A T TR S R yenes i 6 2
B)  TE R S E{E r dwem ¥ feammia 2
E‘ﬂﬂﬁﬁﬁﬁﬁ~ﬂ1/ﬁﬁﬂﬁﬁ%j§?
(1) == (A)
(2) == (B)
@) (A) 3 (B) A
(4) TR (A) FIRTH (B
(5) W & <R |
78. U ¥ fom W ¥ vfag wogs 19 w1 smeH
B § B & 2
(1) =
(2) femm=x
(3) 3w
(4)

T % ?

(1) EES
(2) FEHIAH
(3) ®fEE
(4) EEEE

(5) IO AEl <A1 Aed |

VNATH/ G1

76.

77.

78.

79.

How many districts are there in Harvana ?
(1) 21

2y
(3) 23
(4) 24

(5)  Not Attempterl

Consider the following statements in reapect
of National Security Guards (NSG)

(A)  Operational Headquarter of NSG is in
Manesar.

(B) NSG comes under the control of Union
Ministry of Home Affairs.

Which of the above statements is/are
correct ?

(1) (A)only

(2)  (B)only

(3) Both (A) and (B)
(4)  Neither (A) nor (B)
(9) Not Attempted

In which month of the vear, the famous
Surajkund mela is held EVery vear in
Haryana?

(1) March

(2) December

(3) October

(4) Februarv

(5)  Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Haribanak

(2) Bahudhanyakya
(3) Hariyala

(4) Haryanak

(5)  Not Attempted

£t}
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80. T 31 Wt fryeagm

TRIRIR T S A 23 % fom ufad 2

® TR R, i e ) s e i
: m TT}“.‘,TTQ‘.]H F19-m f’. >

(2) & TR

(3) N TRieys

(4) —19 e

(5) SWFE < =R

81.

82. T HIAI Wiqsiiel WHH s gr foha1 afori =t
J-S1d H &4 T FA og Fifaeie fHami 1 sfmia

forar ST 2 2
(1] 2
2) 3
3) 4
(4) O

(5) =7 Fe] <A1 9Ed |

ﬁmﬁ?ﬁﬁﬂﬁﬂaﬁ?mqazﬁmﬂﬂmmqa%?

80.

81.

82.

83.

To promote the ancient Heritage of Pinjore
two festivals are held every year. ?11'1& iS the
Pinjore Heritage festival’; which 18 the seconq

one ?

(1) Orange festival
(2) Dates festival
(3) Mango festival
(4) Lemon festival

(5) Not Attempted

Who among the following is the Minister of

Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vij

(2) Shree Kanwar Pal

(3) Shree Mool Chand Sharma
(4) Shree Dushvant Chautala
(3) Not Attempted

!\r‘Iukhya Mantri Pragatisheel Samman Yojana
1s to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

(1) 2
(2) 3
3) 4
(4) S

(5)  Not Attempted

Which among

. st the followiy
of Haryana ? 18

IS the State Tre

(1) Banyan Tree
(2)  Sacreq Fig
(3) Mango Tree
4)  Sal Tree

15)  Not Attempteq

83.

{” e &l 34

@ AT

@ TOEL

5 T e
—ATAIGT
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(A)

(B) g ¥ gferg AT feorg &
STEH H Y HA-T/F o w4
(1) 3 (A)

(2) % (B)

(3)  (A) 3R (B) I

(4) T (a) RIE (B)

(5) I Tl <1 =R |

84. Consider the following statements :

(A)  Rohtak has a Police Commissionerate
located there.

(B) Sonipat has a Police Com
located there.

Which of the above statements is/are

correct ?

missionerate

(1) (A) only
(2] (B) only
(3) Both (A) and (B)

(4)  Neither (A) nor (B)
(5) Not Attempted

85. fau 94 2022-23 &+ foru, efamn v § e &
fere et =7 =1 feraen e ewafeq P €2 | 85.  For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
(2) 6.2% towards Health in the Haryana State ?
(3) 8.5% (1) 14.2%
4) 5.8% (2) 6.2%
(5) AL S 9 | B 8.5%
4) 5.8%
86. frefead e T farmm e ; R Natatempren
A)  HFYd IR HeR &t 9 oot & 91y adl
14) ¥ o = 86. Consider the following statements :
: (A) Sonipat and Jhajjar share border with
(B) Ugaw =t W et ¥ & @l € Delhi.
I94F § Q HF-91/ 9 FYTGEH 8/8? (B) Rohtak does not share border with Delhi.
(1) %"'_"'E(A) Which of the above statements is/are
correct ?
) (B) i (1) (A) only
(3) (A) 3K (B) (2)  (B)only
(4) T (A) ARAE (B) (3) Both (A) and (B)
(5) IR el <A1 = | (4) Neither (A) nor (B)
(5) Not Attempted
g7, o fora Tsa & S € 2
| (1) S| 87. Neemrana comes under which State ?
@ wREm (1) Rajasthan
\ . (2) Haryana
5 i (3) Punj
_ jab
(4) SWES (4) Uttarakhand
(5) SR Tl Sl e | (5) Not Attempted
VNATH/G1 3% @1 3 foTE Zerme / SPACE FOR ROUGH WORK " Page 19
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88.

Haryana
' bha seats does

Rajya Sa
How many

; ?
88.  gfemon wowr # v o A feher WS €7 1{’;"5 "
(1) 8
@ 7 @ 7
3) 6 (3) g
4) 5 (4)
(5) 3T = G NotAttemPtes
| . [lowing statements :
89, ﬁq{%‘rﬁﬁﬁ' W o fEIT:l'IT ?m':lﬁm : 80. cﬂnslder thEtS f;izw(;umdwarﬂ 1S Situat'ﬂd n
(A) 71 wifew egrr swamen § £ (A) Eﬂdbi | ;
m : N
(B) ?ﬁﬂﬁiﬂ'ﬂ HT W;;};;;E R B Nada Sihi? gléf_ug:;;;af situated on
SR ~T1/Q o /g2 the bank ol 1V ' .
(1) = (a) which of the above statements is/are
(2) =@ (B correct ?
B)  (A) sTr (B) 2 (1) (A Dﬂ?’
4 : 2) (B)only
(4) =7 (a) R A (B) @) Both (A) and (B)
(5) ST Ty (3)
(4) Neither (A) nor (B)
90. f¥g 5 & o T e farvat P (5) Not Attempted
(1) g 90. In which district is the Indian National
(2) LI Defence University located ?
(3) HlgErE (1) Panchkula
(4) FE (2) Gurugram
. (3) Faridabad
(5) U EN <1 =ed | @) Karnal
: - D Not Att ted
01. 3few Misht aife Sty Wi SR gheETon ¥ R i TR
forer 5 &2 91. Indira Gandhi Super Thermal Power Project
(1] TSR is situated in which district of Haryana ?
A (1) Jhajjar
(2) (2) Sirsa
(3) TeuR (3) Hisar
(4) < (4) Jind
(5) N Ckeall =7ed | (5) Not Attempted
g7 92. Garima Chaudhary ; 11 kn ich
2. L] el fRd g & Tl TS m———— ry 1s we own for whic
(1) Judo
(1) E& (2) Kabaddi
(2) b |§ (3) Wrestling
(3 @?ﬁ (4)  Archery
(4‘ ?‘ﬂﬁ[‘-’ﬁ o (5)  Not Attempted
| : |
(5) IW qﬁjm ﬁmﬁwqu SPACE FOR ROUGH WORK Page 20
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)3 frefatad H 9 fora sREmon w1 31 | T gTEF-"'[ | 93. Who amongst the following did not play for
' &l Gl 917 Haryana in Ranji Trophy ?
) wfe fHE (1)  Maninder Singh
[2) Ffuet ad (2)  Kapil Dev
(3) SERBIIRE (3)  Rajinder Goel
E4: YR doai (4) Sarkar Talwar
(5) W el o1 =T | (5) Not Attempted
)4 ?Rﬁ‘lﬁﬁn"ﬂ s § feae? 94. In which district is Narnaul situated ?
| 1) T (1)  Jind
({2]) CYG (2) Kaithal
(3) Mahendragarh
- mm (4) Rohtak
. T [l Ted | (5) Not Attempted
(5)
‘ ' ' f Haryana
frfafea § 9 i —4t el Haml | 95.  Which of the following dan_ce t:DITﬂS o)
o e Wﬁ $ 37 i T is associated with Mewati tribe ?
@ ‘ (1) Dhamal
- 7ot (2) Ratvail
= (3) Phag
& (4) Gugga
% (5) Not Attempted
(5) ST el oAl wed |
. f epic ‘Mahabharata’?
: ! ? 06. Who was the author o
TeTETe TETHIA’ o TEf i §
= (1) Magh
v ;T;'C\'I'H (2) Kalidas N
¥ i ATt 3) Maharishi Valmiki
) (4) Maharishi Vedvyasa
(4) qﬁq??::[ | (5) Not Attempted
(5) 3BW e
ing 1 he
S 219 2T F YHE S Scksd :~h one of the follow ing is not amongst t
7. Frferted 7 H L o E:jlsr cotton growing districts of Haryana ?
forefi H & T T © 1) Sirsa
(1) (2) Sonipat
(2) f (3) Ambala
(3) (4) Rewar 1
(4) : E (5) Not Attempted
(5) S Tl <l I OUGH WORK Page 21
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Consider the following statements about Gross

B s Fq—q—n (Gﬁwatﬁ) F AR FrferEd 78 State DomestiC Product ('GSDP] :
(A) - it . ) GSDP of Haryana 18 more than that of
s A e g A D Bihar.
(B) STy - (B) GSDP of Punjab 1s more than that of
T ST T Y i =fimmon Haryana.
Al 3 ; e Whichanf the above statements 1s/are
(3 |§ﬂil ﬁ'@' ﬁ?-@jﬁwgﬁ%/%j correct ?
D FE (a) | (1) (A)only
(2)  Faq (B) (2) (B)only
B) () 3r (B) 2 (3) Both (A) and (B)
(4)  F4(a) sk B) (4) Neither (A) nor (B)
(5) W T 9=y (5) Not Attempted
99. “3:?\75’\’ Y gfEmon § P T W R? 99. ‘Ottu’ barrage is on which river in Haryana ?
(1) =9 (1) Yamuna
(2) Hrfes (2) Sahiba
: (3) Tangri
(3) 2RI
(4) Ghaggar
(8 SR . (5) Not Attempted
(5) ST el <l = |
_ ordr 3 foe s A 100. Boojali, an ornament is worn in which part of
100. BT # Afeensll g0 g et e the body by women in Haryana ?
rECIRSIGH % ? (1) Ears
(1) HE (2) Forehead
(3) Foot
(2. ki (4) Nose
(3. W (5)  Not Attempted
(4 Hleh
5 TR Lo
- 000 -
_.o0o0-
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